S91. (b)
Sol. It is known to us all that there is only one God.
S92. (a)
[bookmark: _GoBack]Sol. Negligible

S93. (a)
Sol. To make all the decisions

S94. (d)
Sol. “were much larger”. “The number” will take singular verb.

S95. (d)
Sol. of the king’s

S96.(a)
Sol. The movie who. “Who,” the subjective pronoun, is the doer of an action.

S97.(b)
Sol. “with hundred yards” 

S98.(a)
Sol. She said that she was going to town with her father.

S99.(c)
Sol. II and III

S100.(b)
Sol. depict the successive stages of a phenomenon.
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